
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

5, 12 × ________ = 51.2 8, 494 × ________ = 849.4

2, 832 × ________ = 28.32 7, 767 × ________ = 77.67

7, 497 × ________ = 7497 5, 836 × ________ = 583.6

2, 707 × ________ = 270.7 8, 716 × ________ = 8716

3, 612 × ________ = 36.12 8, 383 × ________ = 83.83

3, 848 × ________ = 38.48 2, 75 × ________ = 275

10, 295 × ________ = 102.95 10, 87 × ________ = 108.7

4, 242 × ________ = 424.2 6, 097 × ________ = 60.97

4, 372 × ________ = 4372 6, 847 × ________ = 68.47

6, 688 × ________ = 668.8 3, 907 × ________ = 39.07
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

5, 12 × 10 = 51.2 8, 494 × 100 = 849.4

2, 832 × 10 = 28.32 7, 767 × 10 = 77.67

7, 497 × 1000 = 7497 5, 836 × 100 = 583.6

2, 707 × 100 = 270.7 8, 716 × 1000 = 8716

3, 612 × 10 = 36.12 8, 383 × 10 = 83.83

3, 848 × 10 = 38.48 2, 75 × 100 = 275

10, 295 × 10 = 102.95 10, 87 × 10 = 108.7

4, 242 × 100 = 424.2 6, 097 × 10 = 60.97

4, 372 × 1000 = 4372 6, 847 × 10 = 68.47

6, 688 × 100 = 668.8 3, 907 × 10 = 39.07

www.snowmath.com

https://www.snowmath.com

